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TABLE T CONTINUED
P, DENSITYs» k x 10%,

ATM. G-MOLES/L CAL/CM SEC°C
GAS NOe 5» 187 M/F CARBON DIOXIDE, +813 M/F ETHANE

5- 1 le 3¢50E=02 638
5« 2 25 9.80E~-01 «693
5- 3 500 2¢28E~00 e 785
5= ¢4 60 2¢94E~-00 839
5= 5 700 30735'00 «908
5=~ 6 80 4e68BE~00 «995
5~ 7 90 5¢75E~00 ls10
5- 8 100 6485E~-00 ls21
5= 9 1250 '8098E‘00 1042
5-10 150 1s02E+01- 1.56
5-11 175 lel11E+01 1.68
5=12 200 lel7E+01 1.78
5-13 2500 le26E+01 le94
5-14 300. - 1e33E+01 - 209
5-15 4000 le42E+01 233
5-16 500 1.50E+01 2653
5-17 750 * 296
5-~18 1000 * 3632
5-19 1500 * 3091
5-20 2000, #* 4e42
5-21 3000. #* « 5428

S = 2629y 1=SP=497% S = «189s 497 =PZ= 3000

GAS NO. 6» +385 M/F CARBON DIOXIDEs «615 M/F ETHANE

6= 1 le 3¢51E~02 «611
6- 2 250 9.65E—01 0661
6- 3 500 20196-00 0739
6- &4 60 2 79E-00 «783
6~ 5 70 3¢48E-00 «837
6- 6 800 4028E—00 «903
6- 7 90 5018E—00 «981
6~ 8 100 6¢14E-00 le07
&=~ 9 125 B8e41E-00 . le27
6-10 150 1.00E+01 le43
6-11 175 lel1E+01 le56
6=12 200 1.19E+01 le67
6-13 250. - le31E+01 le84
6-14 300e le39E+01 1.99
6-15 400, 1e50E+01 2424
6-16 500 le58E+01 =~ 2645
6=17 7508 ' * 2085
6-18 1000." ot W 3621
6-19 1500 - * 3080
6-20 2000 * 4429
6-21 30000 * 5009

S = ¢2069 1=PZ613% S = #2169 497=P =3000




